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input] n(300J 100 130)

V10 =MA(VOL[ 5)0

V20 =MA(VOL[ 10)[T

V30O =MA(VOLD 20)

V4 =MA(VOL[ 30)0

VvV =V1&gtl

V2 AND V2&gt[]

V3 {AND V3&gtl]

\VZ} N

All0 =EMA(CO 7O

A2[0 =EMA(CO 14)O

A3 =EMA(CO 75)0

A40 =MA(CO 30)0

A5 =MA(CO 60)0

A6 =MA(CO 120)0d

AAL =A1&gt

A2 AND A2&gt[]

A3 [

EEQ) =(HHV(HO N)-LLV(LO N))/LLV(LC N)O
BBJ =REF(EEO 1)&lt[]

=0.2000

CCLO =Cé&gtlJ

O AND C&gtll

=REF(HHV(HCO N)O 1) O

DD =(C-REF(CU 1))/REF(CO 1) &gt
=0.02[J

O0000{vVAND} AAAND BB AND CC AND DDand
(DYNAINFO(54)-DYNAINFO(3))/DYNAINFO(3) &gt
0.06 and DYNAINFO(41)&gt0]

o0
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DIFO =EMA(CLOSED 12)-EMA(CLOSEL 26)0]

DEAD =EMA(DIFO 9)0

MACDLO =(DIF-DEA)*2&gt[]

00

MACD AND REF(MACDO 1) AND REF(MACDU 2) AND REF(MACD[ 3) AND
REF(MACDO 4) AND REF(MACDO 5) AND REF(MACDU 6) AND REF(MACD( 7)
AND REF(MACDO 8) AND REF(MACDU 8) AND REF(MACDL 10) AND
REF(MACDO 11) AND REF(MACDO 12) AND REF(MACDC 13) AND
REF(MACDO 14) AND REF(MACDO 15) AND REF(MACDC 16) AND
REF(MACDO 17) AND REF(MACDO 18) AND REF(MACDU 19)0]
(00000000000 000000O00000000}
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input0 n(300 10 130)0

V10 =MA(VOLO 5)0

V20 =MA(VOLD 10)0

V30 =MA(VOLO 20)0

V40 =MA(VOLO 30)0

VvV =V1&gtD

V2 AND V2&gt[]

V3 {AND V3&gt[]

V430

A10 =EMA(CO 7)0

A20 =EMA(CO 14)0

A30 =EMA(CO 75)0

A40 =MA(CO 30)0

A50 =MA(CO 60)0

A60 =MA(CO 120)0

AAD =A1&gt0

A2 AND A2&gt0]

A3 [0

EED =(HHV(HO N)-LLV(LO N))/LLV(LO N)O
BB =REF(EEO 1)&It0

=0.200]

cCO =C&gtO

O AND C&gt[]

=REF(HHV(HO N)O 1) O

DD =(C-REF(CO 1))/REF(CO 1)&gt0
=0.020

000 O0{VVAND} AA AND BB AND CC AND DDand
(DYNAINFO(54)-DYNAINFO(3))/DYNAINFO(3)&gtO
0.06 and DYNAINFO(41)&gtD

00

(00}0o0O00oo0o0oo
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ma(cl] 250)&gtl]
=ref(ma(cl] 250)1 1)
Oo0o000oooooooooono
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